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First Revis UNTA tion - 2025

Thve : 3.00 Hrs, A\CCO TR f,\NCY . © Marks : 90
PART'A ) ;
Choose the best answer v s e | | S 5 a5
1. The amount of credit sale can be computed {rom o

a) total debtors account b) total creditors c) bills f°°°'v‘?§‘s Account d) bills payable acgount
Statement affairs is generally propared to find out the it 1m i Of the business,

@) profitor loss  b) financial position  ¢) capital ) aiMeMeal accuracy

Receipts and payments accounts is 8 s o '

a) nominal account  b) real account ¢ personal acCOU“é}-i d) representative personal account
Subscription due but not received for the current yearis & . = :

g

a) an asset b) a liability ¢) an expenses d) an item to beé_‘gnqred : .
Which of the following is correct pair L
i) interest on drawing - credited in P& L'account
+ i) Interest on capital - debitedin R&L account
iil) Interest on loan - debited in P& L account
iv) Sharing profit ' - credited in Capital account

.

10.

I1.

13.

S 14,
15.

16,
17.

18.
19.

20,

_ Which of the following is not a ool of financia| g

a) (i) and (i) b) (ii) and (il)) ¢) (i), (i) and (iii) d)all the above A .
Profit after interest on drawings, interest on capital and remunerations is 310500. Geeta a partner is entitled to receive
commission t 5% on profits after charging such commission, find out commission

a) 350 b) 150 ¢) F550 d) I500 o :

Which of the following statement is true? . g*‘

-a) Goodwill is an intangible asset b) Goodwill is current assel c) Goodwill is a fictitious asset °

d) Goodwill cannot be required

Which of the following is true _© ’ ‘ R ,
a) super profit | = total profit / number of years ‘it ' : ' E
" b) super profit = weighted profit / number of years:' =+

c) super profit average profit — normal profit -

d) super profit = average profit x yeéqs of purchase A ' . -

On admission, the profit / loss on revaluation of assets and liabilities is transferred to the capital account of
a) the old partners b) the new partner c) all the partners:d) sacrificing partners '

If the new profit sharing ratio is less than the old profit sharing ratio of a partners, the difference is called .................. i ie
a) capital ratio b) sacrificing ratio ¢) gaining ratio d) none of these shos ™ -

Which of the following is not a correct pair? s

a) Admission of New partner % SaCriﬂcing Ratib ‘

b) Retirement of old partner - Gaining Ratio | ‘ ) s

c) Goodwill - Intangible Asset

d) Indian partnership act - 1956 fivis

On retirement of a partner, general reserve is transferreqd io'the

a) capital account of all the partners. b) revaluation aceq,nt. ¢) capital account of the continuing partners
d) memorandum revaluation account i - R
The part of share capital which can be called yp only on thawl nding up of the company is called . S
a) authorized capital b) called up capital ) capjta reserye: d) reserve capital G
The amount raceived over and above the par values i creditedto ‘ i e e ey
a) securities premium a/c b) calls in advangce a/c c) Sharz capltal a/c d) forfeited shares a/c ‘ .

tat -nalysis o e : :
a) trend analysis b) common size statement c) (f:;::mt q*gsleyitatemem d) standard costing . . .
The term ‘fund’ refers to  a) current “abimy b) Workisara’ itﬂl ) ﬂxedv assets. d) non -~ current asset
The mathematical expression that provides a measure Ca 7 felai'ionship between twa figures is called
a) conclusion b)ratioc c)modal d) decision of ‘he , i e
Proportion of current assets to current liabilities s calleg
a) proprietary ratio b) acid test ratio ¢) debt aqu“y A G
Which is not the default group in Tally? allo d)

currant ratlo

a) suspense account b) outstanding expense ¢ ot d) lnvestments Tk o
Salary account comes under which of tha f°",0win; ::les gcﬂ,ﬂu ik il i
a) direct incomes 'b) direct expenses c) Indirecy in 2 direct expensas.

Comg d) In
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PART - B 7x2=14 7.
Answer any 7 questions. Question No. 30 |s COmpyigory i

What is legacy? s
fine company i ;
5§w Computerized Accounting System helpfu| tq InVanory Management?

From the following details find out total sales magg Aliring the year. /
Debtors on 01.01.2020 ?90.000

Cash received from debtors . . <2,50,000

Discount allowed ‘ 37,000

Sales returns . 33000

Debtors on 31.12.20 J 1,50,000

ing,profits in the ratio 3:2; The ¢y # April 2020 was 1,20,000 for Arasu and 7 80,000 for
g::lri 22% ?::la?rncir;raerntg;;counts _shc')w a credit t?;:,?f;ti'f?;s,ogo and J ?5,000 fespectively. Calculate mﬁterest on
capital at 6% p.a. for the year ending 31¢ March 20?1{and pass journal entries. T e i R
Calculate the value of goo_dwuil) c?(t) 323(/)e2azrs %irscr:)%?s' of average p:srgfgoo; five years. Profits are 40, ,. _
- 0; 2021 - 350,000; ~x%9,000 and.2023 - ) .
i?aﬁg anfj :g)eggsﬁ are partisers sharing profits in the rét,f of 4:3.?On 31.03.2021. Harish was admitted as a parfn_e% C:n
the date of admission, the book of the firm showed 3 -:;enera‘l Reserve of ¥ 56,000. Pass the journal entry to dlStT"l ute
serve. i B T ik : P ]
:’;:lfi;‘:;? ;ed Naveen are partners sharing preﬁtgiﬁ;:the ratio of 5:3:2. Naveen retires and the share is taken by Logu
and Mano in the ratio of 3:2. Find out the new profit sharing ratio and gaining ratio.- _ T oA
From the following particulars of Thangam Ltd:, Prepare a common size income statement for the year ended 31
March, 2021. Revenue from operations ?Z,S0,00Q d'ttfér income J 10,000. Expenses 31,50,000.
Calculate gross profit ratio from the following - < ; g 4 : : ‘ ' , :
" Revenue from operations 33,00,000. Cost of revenue "from operations J 2,25,000. Purchases ¥ 1,80,000 and closing
stock 30,000 . ) [ = & Y, e A e :
~ i gMPART -G L el T iSn o ‘
Answer any seven questions. Q. NO. 40 is cg_;}ipﬁléory B 0 _ g ‘ 7x3= 21_

State any six contents of a partnership deed. . :-'\‘_ o 2 : :

Give any three characteristics of company. - o AT : i ' :

What are the steps involved in designing accoUntiﬁgggpons? R :
es.

From the following particulars, calculate total purch
Creditors on 01.04.2020 3 1,50,000 :
Bills payables on 01.04.2020 < 40,000
Cash paid to creditors Z3,90,000

Cash paid for bills payables ¥ 90,000
Purchases return < 50,000

Cash purchases $ 2,00,000

Creditors on 31.03.2021 7 1,30,000

Bills payables on 31.03.2021 ¢ 30,000

From the following particulars, show how the item
the year ending 31 12.2023, e

Subscription received in 2023 < 85,000 which JnCIAUq_Gr_ ?7509 for2022 and 7 8500 for 2024. Subscription outstanding

for the year 2023 is 312000, Subseription of 74000 Was oo vedin advance for 2023 in the year 2022 -

From the following information, calculate the value 0f 800dwill based on 2 ¥4 year purchases of super profit.

a) capital employed 4,00 000 b) Normal rate of refU" 15% c) average profit of the business ¥ 84,000 -

Ibrahim and James were Partners of the firm sharing PIofits in the ratio of 2:1. They admit Kannan into partnership with

¥ shape of profit. Calculate new ratio and sacrificing fatio. ; &

alani, Rajan and Selvam are partners sharingtprqﬂ,t?'{;i_;" the ratio of 3:2:1. On 31.03.2021'Rajan retires from business.

Their balance shegt shows reserve fund 60,000, WO[fgmen compensation fund 3 48,000 and profit and loss appropriation
30,000. Pass journal entries ;g;gfansferthe above items on his retirement. ;

N9 particulars, prepare comparative IN°OMe statement of Uthra Ltd. :

‘Fscriptioh' will appear in the income and expenditure account for -

From the followi

Particulars 2022 .23 2023 - 24 :

‘ Revenlue from operations 3.00000 3,75,000

Other income , : -’00'0'7 60,000

Expenses - 19,0008 ! ‘ e
. 1,80,000 , !
© (b) quick ratio ! el g

Kindly Send Me Your Questions & Answer Keys to us: padasalai.net@gmail.com



www.Padasalai.Net www.TrbTnpsc.com

ik e ‘ 0 and Plepg;y
Current assets 1,50,000 (includes stock %?5.324'000 aﬁdp;',? SXpenses ¥ 5000),
= Short term borrowings ¥ 22,000, bills paya 91 PART'E.,E'D;‘?QQWHQ expenses 7 4000)

" Answer all the questions '~ "« el ale and Rt » - 7x5=35
" 41. a) From the following information, prepare capita 5%5-“'-“""9"{ a/c of partners Nathan and Palani
.. Particulars , i . Vani () Rani (7)
Capitals on 1% January 2023 " - 3,00,000 2,40,000
* Current account on 1* January 2023 (Cr) 16,000 : 9,000
_ Additional capital on 01.06.2023 - 30,000 40,000
~ Drawings during 2023 , £ 40,000 : 20,000
Interest on drawings ' . 1500 900
Shares of capital for 2023 *. 30,000 20,000
Interest on capital 8% e ? ?
- Salary 18,000 ' NIL
- Commission - T NIL © 2400
b) From the following receipts and payments A/c of Tnch¥ Becreation Club, prepare income and expenditure A/c for the
year ended 31.03.2024 : . : i : it haiv %
Receipts - e 3 1 Payments ' ; og -
To Balance b/d - cash v /11000 ~ § . ByRent paid 5(8)00
-To sale of old newspaper : 3000 - ByFurniture purchased I £000
To member's subscription ...~ 31000 - & " (Bysecretary’s honorarium & 356
To locker rent o : 8000 35 .~ Bygeneral expenses ot
" To interest on investments R o f . By printing and stationery . .5000
" To.sale of furniture (R . ,5000 ey .gy agg{g;g 1665 w3 1700
fDBi\?i?:Itr\llf o R 4400) 27600 }Bz balance c/d Cash in hand- 3000
86850 v L . p e o R0

bR W e B _ .
© 42.- a) Ravi and Raman started a business on 1% January 2023 with (_:apitals of Rs. 3,00,000 and Rs. ‘2,00,900 rgspecnvely
. According to the Partnership Deed . , L ERERa

i) Interest on capital is to be provided @ 6% p.a -

ii) Raman is to get salary of 350,000 per annum e
iii) Raviis to get10% commission on profit (after interest on capit_al_and s
iv) Profit— sharing ratio between the two partners. 3:2 = =

During the year, firm earned a profit of 330,000 i ;

[§
y H |

Prepare profit and loss appropriatlon account for the year. ended 31'-.12.2024> ‘
b) What are the difference between sacrificing ratio ang gaining ratlo?t the value of goodwill on the basis of 3 years
- 43. a) From the following informa;i:m rfe;at|ng to Amman ing us iries, calculate of
: rchase of the average profits of 3 years. e o N
g)u Profits for the years 2021, 2022 and 2023 were 5 90'000. ) 86,000 an:a?;(.)(;.‘ooo res{pec;t‘ QY
b) A non - recurring income of 10,000 is included in the profits ofthe y ; :
; b) The costing stock of the year 2022 was overvalueq by ?zo,qoo : : :

b) What are factors determining goadwill? o il dhastanih 31.‘122923 TR

il

alary to Raman) after charging such cpmmi’ssion, }

> l"\‘; 57
e

44. a) Raja and Rani are partners, sharing profits in the ratio of 54 Assets e 4
Ljabilities -2 oo e 40,000
%’ani's capital - 1,00,000 'g;]ock ity : 80,000

..Raja’s capital -80,000 ke e : - 60,000
 Bills payable i 26:000 “ i Dash bk 84,000
Workmen compensation fund ' 54,000 . . giials receivable % gt 20!333

S Crediors: - 7 L 008000 7 e D itand lossale T Sua
i h i g L PP f st 3{‘25'\000
©3,25,000 - i N

avi admitted as new partner on the followind it‘eimsc-l by 5% ) To provi d 0

On01.01.24,R d as _
on g2 iated by 10% i) Furniture to be deprec[ate

ﬂq'zooO'foffbadqebis i
' |) Stock to be apprec e |

O e e
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airs of ¥1750 not yet recor, 4 | ! 3

V) Outsm"‘c:;:,ga\rizt: alc and partners capita| a,c::ed V)‘.,;j R shall bring ¥1,20,000 as capital for 1/5 share of prof|t§.
Prepare rev: ! ’ . . v
b). V\F:?\at are the difference between statemant ofa

45. a) Ram, Selvam and Thangam are partners in 4

ffa[ Jance sheet?
’&and o profits in the ratio 6:5:4.- Their balance sheet as on

31.03.2023 as follows: M sharing ' :

L.amnmsmd‘tms T Asots , . 75003

Sundry crect u Buildings )

Workmen comgensallon fund Machinery _ : - 45000
General reservts Debtors . gkt 30000

Capital accoun 45000. 00 Lifo e Stock Y 15000
. ga;n - 30000 % = - Cash at bank 60000

elvam ‘ . 37 Y
Thangam e 25000 15 000 0
S— : : s
2000 . : £ 225000

A . S

Thangam retired from business on 01.04. 2023 Subj
a) Stock to be depreciated by 20% :
b) Anticipated claim on workmen: compensatlon fund ?1 500
¢) Unrecorded investments of 316500 has to be brought into books
-d) Debtors written off by ¥ 4500 ‘
e) Thangam account settled immediately .. © . ¢
Prepare revaluation a/c. capital a/c and balance Sheet of the reconstltuted pannershlp f m. [OR]
b) Explain any five applications of computerized acccum,ng system. :

46. a) Balan Ltd issued 50000 shares of 3100 each at par, the amount payable on \apphcatlon 350, on allotment 330 and on
firstand final call 320. It received applications for 40000 shares and were fully allotted It received all money except call
money for 400 shares. Pass necessary journal entnes i[OR]

b) From the following particulars of Siruvani Ltd., prepare common size income statement for the’ years ended 31%
March, 2023 and 31% March 2024

ec'ito the followmg conditions.

PARTICULARS

202223 :

2023 - 24,
Revenue frcm operators 300000’ i , 450000 - )
-~ Other income - 37500 - " 112500
Expenses 375000 . s 225000
~ Income tax ; 2 3 ; 30%:;;.-.; 3 : 30% S -
47. a) From the following balance sheet of ABC Itd., as on 31 03. 2021 calculate followmg ratios. (l) Debt equrty _[at[Q
(ii) propnetory ratio (i) capital gearing ratio . - "'
Balance sheet QfABC Ltd ason 31.03. 2024 - 5.3 Yo :
Liabilities Assets L i v
- 1. Shareholders funds 1. Non - current assets A W i .
a) Equity share capital - Fixed assets - . .- - 4150000
8% preference share capital 2.Current assets - ~ S :
b) Reserve and surplus ~.a).Inventories e ¥ iR 24000
2. Non - current liabilities - b) Trade receivables T 20000
9% debentures c) Cash and cash equivalents "~ 5500
3. Current liabilities d) Other current assets e
a) Short term borrowing from banks prepaid expenses L - 500
b) Trade payables , : R
Total Total ' 200000
[OR] » e R i

0 ?) Murthy and Mohamed are partners sharing profits if  the ratio 3:2, They decided to admit Mangal as a new partner for
Y share of profits, Calculate new profit sharing ratio ¢ and sacrificing ratio in following cases. '

. a) both the partners sacrificing equally b) Murthy sacnf ice 2/12 .and Mohamad sacrifice 1/12
c).OldP & L ratio sacrifice 75

. 42 Accgdntancy -4
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